
ANSWERS – VOLUME2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 4, Members Subject to Bending and Extension problem 4.043, page 246 
 

Last update: 22-10-07 

Remarks: See §4.4, pages 168 till 170 
See §4.5, pages 171 till 184 
See §4.6, pages 184 till 186 

 
Answers:  
 
The indices A and B indicate, respectively, the wide and narrow 
flange 
 
c.  and  2

A 36 N/mmσ = − 2
B 9 N/mmσ = +

 Distance of the neutral axis from NC:  280 mm
 
d.  and  2

A 13,5 N/mmσ = − 2
B 36 N/mmσ = −

 Distance of the neutral axis from NC:  560 mm
 
Explanation: 
 
c.  and   315 kNN = − 63 kNmzM = −

 ; ; ;  ( ) 221 N/mmNσ = − ( ) 2
A 15 N/mmMσ = − ( ) 2

B 30 N/mmMσ = +
 
d.  and  315 kNN = − 31,5 kNmzM = +

 2 ; 2 ; 2 ;  ( )

 

21 N/mmNσ = − A 7,5 N/mmMσ = + B 15 N/mmMσ = −( ) ( )


